Aflarea termenului necunoscut la înmulțire și împărțire
Fișă  de  lucru

	F1 x F2 = P
F1 = P : F2
	F1 x F2 = P
F2 = P : F1
	D : Î = C
Î = D : C
	D : Î = C
D = C x Î

	Ex: a x 4 = 40
             a = 40 : 4
             a = 10
v: 10 x 4 = 40
	Ex: 5 x b = 40
             b = 40 : 5
             b = 8
v:  5 x 8 = 40
	Ex: 35 : d = 5
              d = 35 : 5
              d = 7
v: 35 : 7 = 5
	Ex: e : 4 = 5
            e = 5 x 4
            e = 20
v: 20 : 4 = 5

	d x 5 = 35
_d=35/5_____________
__d=7_____________
_7*5=35___________
	3 x d = 18
_d=18/3___________ d=6  
_3*6=18__________
	27 : b = 3
_b=27/3_____
__b=9_______
__27/9=3_____
	a : 3=8
_a=3*8
 a=24
 24/3=8
_______________

	d x 5 = 5
d=5/5
d=1
1*5=5

_______________
_______________
_______________
	3 x d = 27
d=27/3
d=9
3*9=27
_______________
_______________
_______________
	24 : b = 4
b=24/4
  b=6
24/6=4
_______________
_______________
_______________
	a : 4 = 9
a=4*9
a=36
36/4=9
_______________
_______________
_______________

	f x 2= 18
f=2/18
f=9
9*2=18

_______________
_______________
_______________
	3 x n = 30
n=3/30
n=10
3*10=30_______________
_______________
_______________
	30 : f = 5
f=30/5
f=6
30/6=5

_______________
	c : 4 = 7
c=4*7
c=28
28/4=7

_______________
_______________

	m x 4 = 24
m=4/24
m=6
6*4=24                               ---------------------------------------------------------
	3 x a = 21
a=3/21
a=7
3*7=21
	5 : g = 5
g=5*5
g=25
5/25=5
	c : 2 = 7
c=2*7
c=14
14/2=7

	n x 3 = 30
n=30/3
n=10
10*3=30
	2  x a = 20
a=2/20
a=10
2*10=20
	12 : m = 2
m=12/2
m=6
12/6=2
	m : 2 = 9
m=2*9
m=18
18/2=9

	b x 5 = 45
b=45/5
b=9
9*5=45
	5 x p = 30
p=30/5
p=6
5*6=30

	16 : n = 4
n=16/4
n=4
16/4=4
	g : 5 = 5
g=5/5
g=1
1/5=5

	u x 4 = 32
u=32/4
u=8
8*4=32
_______________
	4 x d = 36
d=36/4
d=9
4*9=36
_______________
	14 : s = 2
s=14/2
s=7
14/7=2
_____
	b : 2 = 12
b=12*2
b=24
24/2=12

	d x 3 = 15
d=15/3
d=5
5*3=15
	4 x n = 28
n=28/4
n=7
4*7=28
_______________
_______________
_______________
	12: c = 4
c=12/4
c=3
12/3=4_______________
_______________
_______________
	e : 5 = 9 
e=9*5
e=45
[bookmark: _GoBack]45/5=9_____________
_______________
_______________



 
